Answers without work to check. If you cannot find your mistake then please seek help EARLY! This
assignment is worth 4 pts. 1) did you complete it 2) did you show all the work 3) did you correct in pen 4)
did you get 75% of the problems correct?

4.4 WS A & B answers with no work. Check the ones you were supposed to do for your assignment.
Ask questions on any in class that you cannot figure out your mistake. Remember odd answers are

always in the back of your textbook.

4.4 Practice A

1. a. 19
b. yes; The point (15, 15) shows that one student
carned a score of 15 on both quizzes.

c. yes, Quz | scores tend to be higher.
2. positive correlabon 3. negative correlation

4. a y=2x+1
b. slope = 2; Each year there are two new plants;

y=1ntercept = 1; mmtally 1 plant

4.4 Practice B
1.a. 3
b. yes; The pomnt (215, 215) shows that one bowler
bowled their average as therr highest score.

c. (240,199)






